Setting 
$$p = prime$$
,  $C = perford field of char p$   
 $\overline{w} = pseudo-unif of (e.g.  $C = C_p^b$ )  
 $o < 1\overline{w}/_c < 1$   
 $Y = Spec(Ainf[ptw]]) = Y = Spa(Ainf) \cdot [ptw]]$   
 $cl. pts = [y = (K_1c) until t of C]$   
 $chor K = o, c: c = \kappa^b$   
 $g \in b \ kr(\overline{w} : Ainf[ptw]] \to K) \xrightarrow{1 \cdot 1_K} R$   
 $\equiv [c_i] p^i \mapsto \overline{\chi}(c_i) \stackrel{\#}{\to} p^i$$ 

$$\frac{\operatorname{Rmk}}{\operatorname{q}} 1 \operatorname{Wormolization} : \quad \forall n \in C, \quad |x|_{C} = |(\iota x)^{\#}|_{K}, \quad q \quad |\cdot|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad \frac{z}{2} \quad \operatorname{R} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad \frac{z}{2} \quad \operatorname{R} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad \frac{z}{2} \quad \nabla \left[ (y) = |\varphi|_{K} \quad |y| = |\varphi|_{K} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad y \quad \frac{z}{2} \quad \nabla \left[ (y) = |\varphi|_{K} \quad |y| = |\varphi|_{K} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad y \quad \frac{z}{2} \quad |y| = |\varphi|_{K} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad y \quad \frac{z}{2} \quad |y| = |\varphi|_{K} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad y \quad \frac{z}{2} \quad |y| = |\varphi|_{K} \quad |y| = |\varphi|_{K}$$

$$= \operatorname{Wormolization} \quad \forall \quad y \quad y \quad y \in |\varphi|_{K} \quad |y| = |\varphi|_{K}$$

$$\frac{P:ctore}{P:ctore} \quad T(Y, G_Y) = A_{ing} \left[\frac{1}{p}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K(q) = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{M_{Y, q}} = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{q} \frac{G_{Y, q}}{G_{Y, q}} = K_{ing} \left[\frac{1}{q}\right] \xrightarrow{g} \frac{G_{Y, q}}$$

where 
$$Y_{[a_1b]} = Y \cap S_{pe}(B_{[a_1b]}) = y g \in Y : a \leq r(y) \leq b$$

$$\frac{Definition \circ f \quad B_{dP}^{+}}{R_{i}} \quad fix \quad y = (K, i)$$

$$\frac{definition \circ f \quad B_{dP}^{+}}{R_{i}} \quad fix \quad y = (K, i)$$

$$\frac{definition}{R_{i}} \quad fix \quad y = (K, i)$$

$$\frac{definition}{R_{i}} \quad fix \quad f$$

$$\frac{\text{Rep.}}{\text{R}} = \frac{\text{R}_{\text{dR}, \text{g}}}{\text{I}} \text{ is not a zeros-divisor in } \text{R}_{\text{dR}, \text{g}}^{\text{I}}$$

$$a) ? \text{ is not a zeros-divisor in } \text{R}_{\text{dR}, \text{g}}^{\text{I}}$$

$$b) \text{R}_{\text{dR}, \text{g}}^{\text{I}} = (?) - \text{adcolly complife}$$

$$c) \text{R}_{\text{dR}, \text{g}}^{\text{I}} = (?) - \text{adcolly complife}$$

$$c) \text{R}_{\text{dR}, \text{g}}^{\text{I}} = (?) - \text{adcolly complife}$$

$$c) \text{R}_{\text{dR}, \text{g}}^{\text{I}} = fild = K$$

$$\frac{\text{Proof}}{\text{Proof}} \text{ g fixed, drop it from notation.}$$

$$a) x \in \text{R}_{\text{dR}, \text{g}}^{\text{I}} x = (x_{0})_{n>0}, x_{n} \in \text{Ainf}_{\text{f}}^{\text{I}} \text{I}^{\text{I}} [\frac{1}{r}]$$

$$? \text{ is not zero-dv. in Ainf (becase dist.)}$$

$$p^{\text{IIIIII}} \text{ in Ainf}_{(?)} \leq K \text{ is chore o untilf}$$

$$\Rightarrow (e_{\text{R}}) \quad \text{Ainf}_{(?)^{n+1}} \leq \text{Ainf}_{(?)^{n+1}} [\frac{r}{r}]$$

$$Three exists k >> o (dep. on n) \text{ s.t. } p^{\text{K}} x_{n} \in \text{Ainf}_{(?)^{n+1}}$$

$$if now \quad ? \cdot x = o \implies p^{\text{K}} x_{n} \text{ is killed by ? in } ? (?)^{n+1}$$

$$\Rightarrow p^{\text{K}} x_{n} = ?^{n} \cdot \text{gn} \text{ for some } \text{gn} \in \text{Ainf}_{(?)^{n+1}}$$

$$\text{reducting modulo} (?)^{n} \text{ we get } x_{n} \equiv x_{n-1} + (?)^{n} \text{ by def without } \text{some } \text{for show}$$

$$\text{for thet } p^{\text{K}} x_{n-1} = 0 \mod (?)^{n} \implies x = 0 \quad \square$$

$$b) \quad \text{Log} = \lim_{n \to \infty} (\text{Ainf}_{(n+1)} \text{gn} \text{L}^{\text{I}}] ) \qquad P \quad \text{Ainf}_{(?)} \text{m+1} [\frac{1}{p}]$$

$$F \text{ reagh to show} \overline{P} \text{ injective}$$

$$\text{Toke } x_{n} = (x_{n})_{n>0} , \quad k_{n} > 0 \text{ os before } p^{\text{K}} x_{n} \in \text{Ainf}_{(?)} \text{for show}$$

$$Tf \quad g(x) = 0 \implies p^{k_{n}} \times_{n} \in (?)^{m+1} \quad fa \quad h \ge m$$

$$\implies p^{k_{n}} \times_{n} = ?^{m+1} \quad y_{n} \qquad fn \quad xome \quad y_{n} \in A_{inf} \int_{(?)^{n-m}}^{y_{n-m}}$$

$$\implies x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$\implies x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1}$$

$$= x = ?^{m+1} \cdot \left(\frac{g_{n}}{p^{k_{n}}}\right)_{n \ge m} \qquad hucce \quad x \mod (?)^{m+1} \quad x = ?^{m+1} \quad x = ?^{$$

Proof Lunie seg KLOG 
$$a = b = |p|_{K}$$
, because  
 $\begin{bmatrix} b \\ D | k_{1} | p|_{K} \end{bmatrix} \xrightarrow{q} B_{L^{\alpha}(b)} \xrightarrow{q} B_{d^{\alpha}(b)}^{\dagger}$   
Consider  $e_{n} : A_{iv} \begin{bmatrix} \overline{pv} \\ P \end{bmatrix} \xrightarrow{p} B_{d^{\alpha}(b)}^{\dagger}$   
induced by the conoical image as before  
 $\underbrace{it \text{ is sufficient to show that } e_{n} (1/2) \le \frac{1}{p} \cdot A_{in} f_{n} (1/2)^{n}$   
 $\forall \text{ let } \alpha = e_{n} (\underline{fv} \xrightarrow{T}), \quad p = \alpha^{-1} = e_{n} (\underline{p} \xrightarrow{T})$   
 $\text{ord } |\alpha|_{K} = |\beta|_{K} = 1 \quad (\text{can choose of im} \text{such } \bullet \text{ uog})$   
there exist  $\alpha'_{1} \beta'_{1} \text{ in } A_{in} f_{n} (2)^{n}$  such that  
 $\int_{K} \alpha \equiv \alpha' \mod (2) \xrightarrow{p} \alpha = \alpha' + \frac{2}{p} \alpha'' \bigoplus_{p \in P} \beta''$   
 $\Rightarrow \alpha''' = (e_{n} (\underline{vv}))^{m} = (\alpha' + \frac{2}{p} \alpha'')^{m} = binomial formula$ 

 $\prod$